5:18 PM

4 March 2021

Plot Date & Time:

M:\AutoCAD_STDS\WAI — STANDARD DETAILS\WAI — MUNICIPALITIES & DOT\MN — Delano\Delano Master Details\DMU DETAILS.dwg

Transformer Boxpad Depth

TAG ELBOWS (USE BACK BOTTOM HOLE)

DRIP TRAY —\
(]

X3
uan ~—— Jfz (SECONDARY CONNECTOR - COVERED)
X1
(®) =——fufz (SECONDARY CONNECTOR - COVERED)
——t—— LEFT — X2
_————(@) 4+—ufz (SECONDARY CONNECTOR - BARE)
FRANSEORMER TRANSFORMER
i ,__|/_ HOLD DOWN
) 1
| |
= ”‘/“2\9 == B\
‘\ | == m’
[ P2 N 7 I
R W E N B |
| [
| [
| |
ai — ” Top View / BRIMARY
u
v /

6" EXPOSED MINIMUM

\ Ground Line

/_ SECONDARY
GROUND ROD CENTER OF —
OPENING TO BACK OF N
TRANSFORMER
\b/
X \/

uja al

Front

Bottom Flange

PRIMARY CABLES COILED CLOCKWISE
SECONDARY CABLES COILED COUNTERCLOCKWISE

UNDISTURBED SOIL

INSTALLATION NOTES:

1. PROVIDE SUFFICIENT PRIMARY NEUTRAL PIGTAIL AND CABLE SLACK TO PERMIT READY
DISCONNECT OF ELBOW AND MOUNTING ON PARKING STAND.
2. VENT BEFORE REMOVAL OF BAYONET FUSE.
ITEM 'QTY.' MATERIAL STOCK # ITEM (IQTY.' MATERIAL STOCK #
-uja 1 FIBERGLASS BASEMENT —1| uae ELBOW ARRESTOR (RADIAL ONLY) ==
L El ELBOWS, AS REQUIRED —Huan 1 TRANSFORMER —
| ufz 3 SECONDARY CONNECTORS 102210 __|fuhw SAFETY SIGNS AS REQ'D |
2 INSULATED COVERS 2 SMALL ONE BOLT (#6-10) 102560
- GW GROUND WIRE, REQ'D LENGTH 15' #2 | 2 LARGE ONE BOLT (#2-40) 102550 ]
- aj 1 10' GROUNG ROD %" 108765 — 1 DRIP TRAY 101775 —
| aj 1 GROUND ROD CLAMP %" _ 1 FARGO H CLAMP GROUND (#6-10) 102730 ]
| CAD WELD (AS NEEDED) 101760 il 2 ) TRANSFORMER HOLD DOWNS
CLIENT PROJECT STANDARD PLATES
SHEET
@ Stantec Ste 1—PHASE TRANSFORMER
Municipal Utilities LOW PROFILE
Rev| own | App| REv DATE |DWN BY[CHK'D [APP'D [DWG DATE jyLY 2017 |PROJECT NO. | SHEET NoO. REV NO.
NPW SCALE 0564—100 DMU-1




5:18 PM

4 March 2021

Plot Date & Time:

M:\AutoCAD_STDS\WAI — STANDARD DETAILS\WAI — MUNICIPALITIES & DOT\MN — Delano\Delano Master Details\DMU DETAILS.dwg

TAG ELBOWS (USE -

BACK BOTTOM
HOLE TYP.)

ALL ARRESTOR —
TAIL IN ONE
LARGE CLAMP

DRIP TRAY \

GROUNDI

NG CONNECTORS,
TANK GROUNDS

ITEM QTY.
al 2

aj 2

az

bu 4

Uae 3
Uan 1

3 £

@l

MATERIAL
GROUND ROD %"
GROUND ROD CLAMP %"
JUMPER, AS REQ'D
GROUNDING CONNECTOR
TANK GROUNDS
ARRESTOR, SURGE

3 PHASE TRANSFORMER

STOCK #
108765
102740

108765

— ITEM QTY.

— Uhp
— Uhw 10
___Uja

1
- 3
2

MATERIAL

Uja —/

Note: 1. Vent before removal of bayonet fuse
2.Jumper as required, maintain system neutral

STOCK #

ELBOW TERMINATION

SAFETY SIGNS

PAD, EQUIPMENT, INCL. BOX PAD
SINGLE BOLT LARGE CLAMP
SINGLE BOLT SMALL CLAMP
HOLE SPADES FOR GROUND WIRE

I

CLENT PROJECT STANDARD PLATES
BRLif
@ Stantec ) SEE 3 _PHASE PADMOUNTED
Municipal Utilitics TRANSFORMER, RADIAL
Rev|own | app| REv DaTE |DWN BY[CHK'D [APP'D [DWG DATE  FEg 2017 |PROJECT NO. | SHEET NO. REV NO.
NPW SCALE 0564—100 DMU-2




5:18 PM

4 March 2021

Plot Date & Time:

M:\AutoCAD_STDS\WAI — STANDARD DETAILS\WAI — MUNICIPALITIES & DOT\MN — Delano\Delano Master Details\DMU DETAILS.dwg

GROUND TAILS TO NEUTRAL

/— TANK GROUNDS

bu

note: 1. Vent before removal of bayonet fuse

@ - 2. Jumper as required, maintain system neutral

ITEM QTY. MATERIAL

— ai
— aj
| av
bu

[

2-4
2-4

| 4
Uan 1

GROUND ROD, BASED ON SIZE
GROUND ROD CLAMP

JUMPER, AS REQ'D

GROUNDING CONNECTOR AS REQ'D
3 PHASE TRANS., PAD MOUNTED

CLIENT

STOCK #
108765
102740

102730

ITEM QTY. MATERIAL

T Uhp ELBOW TERMINATION, AS REQ'D ]

—Uja 1 PAD, EQUIPMENT, INCL.BOX PAD e

—| uhw SAFETY SIGNS AS REQ'D |
uja 1 | Fad, equipment, InCL. box pod

STOCK #

@

PROJECT

STANDARD PLATES

SHET 3_PHASE PADMOUNTED
TRANSFORMER, LOOP FEED

REV DATE |DWN BY|CHK'D [APP’'D

Municipal Utilitics
DWG DATE FEB 2017 PROJECT NO.
SCALE 0564-100

SHEET NO.

DMU—-3

REV NO.




5:18 PM

4 March 2021

Plot Date & Time:

M:\AutoCAD_STDS\WAI — STANDARD DETAILS\WAI — MUNICIPALITIES & DOT\MN — Delano\Delano Master Details\DMU DETAILS.dwg

&

1

| M

(00000 "]

SAFETY SIGNS (Uhw)

GROUND LINE

ITEM QTY. MATERIAL STOCK # ITEM QTY. MATERIAL STOCK #
Ugu PEDESTAL, POWER 100080
— Ugp CONNECTOR BLOCKS 6 HOLE (#6-350)
—I GROUND ROD, IF REQUIRED ITEM | NO. MATERTAL
| Uhw SAFETY SIGNS
B Ground rod , if required
Uhw Sofety signs
CLIENT 3= PROJECT STANDARD PLATES
Sta ntec i ; "."Ii-.l"I'I-Lf:’. .I-I | SHEET
DELAN SHEET SECONDARY PEDESTAL
Municipal Utilifies
REV| OWN | APP| REV DATE [DWN BY [CHK'D |APP'D |DWG DATE  FEB 2017 PROJECT NO. SHEET NO. REV NO.
NPW SCALE 0564—100 DMU—4




5:18 PM

4 March 2021

Plot Date & Time:

M:\AutoCAD_STDS\WAI — STANDARD DETAILS\WAI — MUNICIPALITIES & DOT\MN — Delano\Delano Master Details\DMU DETAILS.dwg

Uhq

+——Uha

NOTE: JUMPER AS REQUIRED, MAINTAIN SYSTEM NEUTRAL

s
L=
q
|
/ —~—Un
th\
\ EXUTION
E_]
/ -’
Nl e M oo o e e N
ITEM QTY. MATERIAL STOCK #
al 2 GROUND ROD %" 108765 FRONT VIEW
aj 2  GROUND ROD CLAMP %" 102740
az JUMPER, AS REQ'D
bu 4  GROUNDING CONNECTOR
Ujn 1 PRIMARY JUNCTION ENCLOSURE
Uha ELBOW TERMINATION, AS REQ'D
Uhq 1  TERMINATIONS, MULTI-POINT 4WAYLB 103525
Uhw SAFETY SIGNS, AS REQ'D
Ua 1  PAD, EQUIPMENT, INCL. BOX PAD
CLIENT PROJECT STANDARD PLATES
SHEET
@ Stantec SHEET 1 _PHASE, 200A JUNCTION
Municipal Utilities 4—WAY
Rev[ own [ aPP| REv DATE |[DWN BY[CHK'D [APP'D [DWG DATE FEg 2017 |PROJECT NO. [ SHEET NO. REV NO.
NPW SCALE 0564—100 DMU-5




5:18 PM

4 March 2021

Plot Date & Time:

M:\AutoCAD_STDS\WAI — STANDARD DETAILS\WAI — MUNICIPALITIES & DOT\MN — Delano\Delano Master Details\DMU DETAILS.dwg

SHOWN WITH BARRIER
IN POSITION

Uhe
COMPARTMENT 2 COMPARTMENT 1
2] o H a ®) O 7/
y \ '
) A
[
| ° ° ° !_1
1 =S = - N 1 CONCENTRIC TO
| Kl Eopm | o | G GROUND BAR
o - oo e e J1 9 | | L st
WIRES GO TO THE SIDE THEY COME FROM R 5 /// \Q =
200 A MAXIMUM
5 B _— 0 " COMPARTMENT 4 COMPARTMENT 3
COMPARTMENT-3 COMPARTMENT-4 Q QO (,,.). 9 9
1 92 93 3 %2 91 2 I i
y e \
|
g O g g g g l
I > ltb G e “—p> L g
O O o o O o [ p: = P P9
£ - =3
, “ iy -
1 42 43 3 42 &1
COMPARTMENT-2 COMPARTMENT-1 &
G J A J - T & d Ql
w Y
600 A MAXIMUM 1 T e
PMH-9 _/ ’ \\
ITEM QTY. MATERIAL STOCK # _ ITEM QTY. MATERIAL STOCK #
ITE) ai GROUND ROD %" AS REQ'D 108765 2 SMALL ONE BOLT (#6-10) 102560
o GROUND ROD CLAMP %" AS REQ'D 102740 | 2 LARGE ONE BOLT (#2-40) 102550
- av JUMPER, AS REQ'D —+1 40 GROUND GRID CAD WELD 101760  —
0J uhe 1 SWITCHGEAR, PAD MOUNTED
av uhw SAFETY SIGNS, AS REQ'D
e e 1 SWITCH BASEMENT, PMH (BOXPAD) 104476
uhw
ujo
CLIENT PROJECT STANDARD PLATES
SHEET
@ Stantec ST PADMOUNT SWITCHGEAR
Municipal Uliies AIR INSULATED (PMH-9)
REV| DWN | APP| REV DATE |DWN BY [CHK'D [APP'D |DWG DATE  FEB 2017 PROJECT NO. SHEET NO. REV NO.
NPW SCALE 0564—100 DMU—-6




5:18 PM

4 March 2021

Plot Date & Time:

M:\AutoCAD_STDS\WAI — STANDARD DETAILS\WAI — MUNICIPALITIES & DOT\MN — Delano\Delano Master Details\DMU DETAILS.dwg

COMPARTMENT 2

SHOWN WITH BARRIER
IN POSITION

'ﬁ_, COMPARTMENT 1
- (@) O 7/
B (I o /
| | T
|:|‘ !/ I:I ”'”ﬂ””*ﬂl””ﬂ |
/ N :
GROUND WIRE TAIL, GO TO CORNERS WHERE S>>
GROUND BARS ARE AND CLAMPED OR TWO MYSH B o SR
HOLE SPADE BOLTED ON.
ALL CONCENTRIC WIRES %
GO TO GROUND BAR
COMPARTMENT 4 COMPARTMENT 3
200 A 600 A [@) ) ()
MAXIMUM MAXIMUM
COMPARTMENT-3 COMPARTMENT-4 4 = b
@ ] o l J
O = = g 0 g = = (1 = =
e [T
_A_R_A
d d d d d d i/,
«iﬁia «1331 Qi
COMPARTMENT-2 COMPARTMENT-1 — yA ¥ 2N\ \oefle<s
NG - > S = e Q
600 A MAXIMUM s
PMH-11
ITEM QTY. MATERIAL STOCK #  ITEM QTY. MATERIAL STOCK #
ai 4 GROUND ROD %" AS REQ'D 108765 2 SMALL ONE BOLT (#6-10) 102560
aj 4 GROUND ROD CLAMP %" AS REQ'D 102740 2 LARGE ONE BOLT (#2-40) 102550
av JUMPER, AS REQ'D — 40 GROUND GRID CAD WELD 101760
uhe 1 SWITCHGEAR, PAD MOUNTED
uhw SAFETY SIGNS, AS REQ'D
ua 1 SWITCH BASEMENT, PMH (BOXPAD) 104476
CLIENT s PROJECT STANDARD PLATES
Stantec Aazzlis S
DELANO SHET PADMOUNT SWITCHGEAR
Municipal Utilities AIR INSULATED (PMH—1 1)
REV| DWN | APP| REV DATE [DWN BY [CHK'D |APP'D |DWG DATE  FEB 2017 PROJECT NO. SHEET NO. REV NO.
NPW SCALE 0564—100 DMU-7/




5:18 PM

4 March 2021

Plot Date & Time:

M:\AutoCAD_STDS\WAI — STANDARD DETAILS\WAI — MUNICIPALITIES & DOT\MN — Delano\Delano Master Details\DMU DETAILS.dwg

@\ 1 BROWN

e[Sl S e

RED

SlEIEIE

A}

YELLOW

el e [e

NOTE: JUMPER AS REQUIRED, MAINTAIN SYSTEM NEUTRAL

@<§

k] 03
ke M Nl sk,
FRONT VIEW
_ITEM QTY. MATERIAL STOCK # ___ ITEM QTY. MATERIAL STOCK # ____
[[TEai 1 GROUND ROD, BASED ON SIZE 108765 | Uhq 3 TERMINATIONS, MULTIPOINT 4WAYLB _
al aj 2 GROUND ROD CLAMP 102740 Uja 1 PAD, EQUIPMENT, INCL.BOX PAD
— av JUMPER, AS REQ'D — uhw SAFETY SIGNS AS REQ'D —
—QJ bu 3 GROUNDING CONNECTOR AS REQ'D 102730 b5 ZENNE S W] SONRpneny s ® s
| aVUgn 1 PRIMARY JUNCTION ENCLOSURE Uja | 1 | Pad, equipment, incl. box pad
bu Uhp ELBOW TERMINATION, AS REQ'D
Uy
Uhp | | tlow Termnation, oS require
CLIENT PROJECT STANDARD PLATES
Stantec Lt ST 3_PHASE, 200 A JUNCTION
DELAN TITLE s s
Municipal Utilities 4 WAY
REV[DWN | APP| REV DATE |DWN BY|CHK'D |APP'D |OWG DATE FEB 2017 |PROJECT NO. | SHEET NO. REV NO.
NPW SCALE 0564—100 DMU-8




5:18 PM

4 March 2021

Plot Date & Time:

M:\AutoCAD_STDS\WAI — STANDARD DETAILS\WAI — MUNICIPALITIES & DOT\MN — Delano\Delano Master Details\DMU DETAILS.dwg

INCOMING PRIMARY

CONDUCTORS (TYPICAL)

%"x10' COPPER CLAD
GROUND ROD
(TYP. OF 4)

TRANSFORMER NOTES:
DMU TO APPROVE LOCATION.

el alh e

o o

CAD WELD TO GROUND ROD
MAINTAIN MINIMUM CLEARANCE TO BUILDING (10'-0")

20'-0" MINIMUM

8"—10'}

TRANSFORMER DETAIL — PLAN VIEW

_/ DMU SUPPLIED TRANSFORMER

| FINAL GRADE

20°=0” MINIMUM

T

TRANSFORMER DETAIL — SECTION VIEW

TWO HOLE CRIMP—-ON LUGS.

INSTALL BOX PAD ON 12" COMPACTED GRAVEL BASE
SPECS FOR BOX PAD WILL BE ISSUED BY DMU ONCE LOAD CALCS HAVE BEEN SUBMITTED
CONTRACTOR SHALL TERMINATE SECONDARY CONDUCTORS WITH DMU APPROVED LONG BARREL

PRE-APPROVED EQUAL — VERIFY WITH UTILITY.

CONTRACTOR SHALL INSTALL GROUNDING GRID PER SPECIFICATIONS
CONTRACTOR TO FURNISH & INSTALL FIBERGLASS BOX PAD — NORDIC FIBERGLASS OR

%"x10" COPPER CLAD

GROUND ROD (TYP. OF 4
—-—4/0 STRANDED BAR

COPPER CONDUCTOR

68" MINIMUM "TAIL" 4/0

OUTGOING SECONDARY
CONDUCTORS (TYPICAL)

/ NORDIC BOX PAD

COMPACTED
GRAVEL BASE

ORIENT TRANSFORMER DOORS
AWAY FROM STRUCTURE

CLIENT

Munic E[].Il Utilities

PROJECT

STANDARD PLATES

SHEET
TITLE

TRANSFORMER DETAILS

DWN | APP| REV DATE |DWN BY

CHK'D

APP’D

DWG DATE MAR 2017 PROJECT NO.

SCALE

0564-100

SHEET NO.

DMU-9

REV NO.




	Sheets and Views
	DMU DETAILS - DMU-1
	DMU DETAILS - DMU-2
	DMU DETAILS - DMU-3
	DMU DETAILS - DMU-4
	DMU DETAILS - DMU-5
	DMU DETAILS - DMU-6
	DMU DETAILS - DMU-7
	DMU DETAILS - DMU-8
	DMU DETAILS - DMU-9


